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Three Addends (2 Digit)

Name:

Solve each of the problems.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

80+54+25=

40+ 94 + 22 =

93+36+22=

38+26+12=

66 + 61 + 37 =

98 + 29 + 96 =

92+91+50=

21+17+90=

62+21+60=

79+49+28=

63+ 46+ 26 =

42 + 44 + 52 =

54+64+36=

28+ 78+28=

Answers

10.

11

12.

13.

14.
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ﬂh Three Addends (2 Digit) Name.Answer Key

Solve each of the problems. Answers
1) 80+54+25= 159 159
e 1.
2) 40+94+22= 156 2. 156
3 151
3 93+36+22= 151
T 4. 76
4) 38+26+12= 76 5, 164
6. 223
5 66+61+37= 164
7 233
6) 98+29+96= 223 8. 128
143
7) 92+91+50= 233 %
10. 156
8 21+17+90= 128 135
_— 11.
9 62+21+60= 143 12. 138
13, 154
10) 79+ 49+ 28= 156
T 14. 134
11) 63+46+26= 135
12) 42 +44 +52= 138
13) 54+64+36= 154
14) 28+ 78+28= 134
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Three Addends (2 Digit)

Name:

Solve each of the problems.

Answers

{

151
164

223 76
143 156

233
128

159
156 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

80+54+25=

40+ 94 + 22 =

93+36+22=

38+26+12=

66 + 61 + 37 =

98 +29+ 96 =

92+91+50=

21+17+90=

62+21+60=

719+49+28=

10.

M odified
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